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A-102

B.A. (Part-I) N.C. Examination, 2020

ENVIRONMENTAL STUDIES
YT e

Time allowed : Two hours ] [ Maximum Marks : 100
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Important Instructions

T Ay

Attempt all questions. Each question carries I mark. Questions have been set in English.
Hindi translation is being given for the convenience of students. Candidates have to write
correct answer (A) or (B) or (C) or (D) in the space provided against the questions on OMR

Answer-Sheet.

s yv7 FRaRE & | % 5T | 3% w1 & | 5o S # A 18 faenféfai #1 gfaen &g
377 132 &=y a9 7 8 | wierres] &1 &gl I (A) 71 (B) 1 (C) (D) ¥ & g7 OMR
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1.

A-102

In which term all the three components of environment, i.e., atmosphere, hydrosphere
and lithosphere are included ?

(A) Ecology (B) Autecology (C) Biosphere (D) Habitat

e 3§ g 7g 1 a3 A BT, THE, TeHEE Td Tewed 1 ane # 7

(A) uifRafeEht  (B) wurifeufasht (ORECLES| (D) 3T
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2. Which of the following is not a cause of ajr pollution ?
(A) Automobiles (B) Industries
(C) Use of solvents (D) Forests
ot 3 @ I 1Y e H HI T @ ?
(A) AT (B) J&M
(C) Foremas =1 3w NI Bk
3. A food web is a
(A) A series of food chains having frequent interlinks
(B) A circular food chain
(C) A moderate sized food chain having many trophic levels
(D) A long straight linked food chain
W ARG ?
LAY T gEen A et v qEt @ €
(B) T& I @E J@l
(C) U HYIH HHR 61 W @l 3s NiThal w1 & q1Y
(D) U Tl {t g8 Hef @ gEe
4. Humus is the
(A) Living organic matter (B) Leaves and twigs of plants
(C) Partly decomposed organic matter (D) Fully decomposed organic matter
AR ?
\ (o~ e ety e (B) gl & gfal wa @Al
(C) ity w9 § fagfen Feife g (D) IO T& ¥ faafeq e g
5. The term ‘ecosystem’ was first used by
(A) Mobilus (B) Grassland (C) Theinemann (D) Tansley
iR a3 wree &1 Iuam gavuy fered fopa 2
(A) mfeea (B) URHeE (€) & NS e
6. In which year Air (Prevention and Control of Pollution) Act was introduced in India ?
(A) 1974 (B) 1981 (C) 1986 (D) 1972
g (o1 Famor wE fian) srfufam s form ot 3 T gan 7
\_A) 1974 (B) 1981 (C) 1986 (D) 1972
A-102 2
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7. Ecological pyramids represent the
(A) Trophic structure (B) Energy flow
(C) Ecological succession (D) All of the above
iRt frofirg gof &
(A) ¥ g (B i weTE
(€) iitfRuferh srgermm (D) I wh

8. Which of the following are responsible for pollution in the environment ?
(A) Thermal power plants (B) Nuclear power plants
(C) Automobiles (D) All of the above
fr=1 3 @ o gt & yeww S wwE € 2
(A) Suftg wfts g9 (B) ivrhra St @ax

(SR ICIES wAPT I90 wft

9. Which of the following part of human body is highly affected by air pollution ?

(A) Blood circulation system (B)
(C) Excretory system

Respiratory system
(D) Digestive system

TR TR 1 H G191y N g Had ifre wafad g @ 7

(A) Gﬁqﬁ?iaméa\}&{ IO a3

10.  Full form of AIDS is

(A) Acquired Immune Deficiency Syndrome
(B) An Infections Disease Syndrome
(C) Additional Infections Disease Syndrome
(D) None of the above
AIDS 1 0 9 8

LAY~ Acquired Immune Deficiency Syndrome
(B) An Infections Disease Syndrome
(C) Additional Infections Disease Syndrome

(D) I9UF 4 A &3 TE

11. Smog is a mixture of
(A) Smoke and clouds (B)
(C) Smoke and fog (D)

ym-1gq frwe fm @ 7
(A) gATIERE  (B) {9 991 9 ©)

A-102 3

(C) IcEH o (D) AR

Mist and rain
All of the above

yai I HEn (D~ I Wi
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12. The major source of marine pollution is
(A) Sewage (B) Oil spill (C) Plastics
HS TEEU 1 TG FE 1R 7
A) R (@ e (C) wIRS
13.  Inbirds DDT prevents the proper formation of :
(A) eggs (B) sperms (C) blood
gferal & DDT frwshs 3fam Fmfor =i Teeeft 2 7
AT FUE (B) M (C) T
14.  Sunderbans are famous for
(A) Tiger (B) Rhinoceros (C) Lion
He g wioft i sefafa a wfag 2 72
AT =T (B) Ta ) fer
15.  Ozone layer is located in
(A) Stratosphere (B) Biosphere (C) Lithosphere
3T 90 &1 I 8 7
(&) BEAT EER  (B) Fawsd (C) Fsd
16. Bhopal gas tragedy occurred in
(A) 1957 (B) 1984
(C) 1964 (D) 2002
wigTe e el g8 ot
(A) 1957 ~—4B] 1984
(C) 1964 (D) 2002
17. Freonisa
(A) Ferrous sulphate pollutant
(B) Chloroflorocarbon
(C) Iron containing polycyclic hydrocarbon
(D) Metal fluoride
P a R E HAAR ?
\W qohe ITH HB) FUTAHEA
(C) el g TeaTsRT TG (D g RIS

A-102
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18.

19.

X
o

21.

22.

AR 21.94% (B)

A-102
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Acid rain is caused by
(A) Excess production of coal gas.
(B) Excess release of carbon dioxide due to increasing combustion and

respiration,
(C) Excess release of SO, and NO, from burning fossil fuels, piration

(D) Excess production of gaseous hydrocarbons.

i ani FwERE 2

(A) A NG F1 P IS

(B) efieh S U vaEH GRI e SRTTES 1 avearfires @@
(C). SfieTem $i % & / SO, T NO, H1 Irwifirss warg

(D) Wefiy ETEgrran w1 et I

Bhopal gas tragedy was due to

(A) Air pollution (B) Soil pollution

(C) Water pollution (D) None of these
Wit e e} e g gl ¢

(A) T3 SqE (B) H@ ¥W

(C) v wgEm (D) 4@ %
Environment can be improved by

(A) Wind erosion (B) Excessive tree fall
(C) Conservation (D) None of these
TTERoT Y GUTT A FehaT §

(A) Y AR | (B) cafus ¥z A @
(C) &I (D) FHAHE TE

The main source of energy for the biosphere is

(A) Respiration (B) Photosynthesis  (C) Sun light (D) Carbohydrates

Sariee 3 S H TR EA TR ?
(A) YaEd (B) THENM-GENN (Y G FIHEW (D) FEEIE
The oxygen content of atmosphere is about
(A) 21.94% (B) 18% (C) 0.3% D) 7%%
argige 1 arfaefisE T fra wfama 2 7

18% (C) 0.3% (D) 79%
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23.  Environmental degradation means
(A) Mixing of pollutants in the air.

(B) Biomagnifications of toxic agents. o
(C) Increase in pollution, toxic agents, desertification,

that degrade the environment.
(D) None of the above.
wataer fcfieo & aead @

deforestation and other factors

(B) ST HRE! &1 AR |
ey m,mm@,mﬁm,maﬂtmmﬁqﬁgﬂmaﬁ

Prefiga s e |
(D) ¥ q =Tl

Wildlife Week is celebrated on
(A) 1% October to 7™ October (B) 15 October to 21% October

(C) 1% June to 7" June (D) 15" June to 21* June
Fafia GHTR Fe T A& ?
AAT 1 FEER R T HIR (B) 15 TagEK A 21 g
(C) 1@RTF (D) 15EA 21T

)
>

[ %)
h

The main objective of First Aid

(A) To preserve life

(B) To prevent the victims condition from worsening
(C) To promote recovery

(D) All of the above

Sefires 3TN &1 [ R RS ?
(A) e H==E (B) tifsa i ferreedt g =+ Ushn
(C) &Y T H A% FA (D) I &

26.  Which of the following is not a pollutant, normally ?
(A) Hydrocarbons (B) Carbon dioxide
(C) Carbon monoxide (D) Sulphur dioxide

fr § § P WHIIG: TF N6 TE 8 ?
AT [EEEIEE (B) T STENTRTEE

(C) e AAEES (D) HeH BRATHTEE

A-102 6

http:/fwww.mgsuoﬁline.c-om

wodauljuonssw mmm//:dyy



wod-aurjuonswr mmm,//:dny

http://www.mgsuonline.com

27.  Inlndia ‘NEERD’ institute is located in

A :

;;aﬁﬁ:;ﬂp?{ a}_(g%:%“;ﬂta (C) Mumbai (D) ‘ Delni

(A) TR (By HiewT ©) Haud (D) feech
28.  Ramsar International Convention is related to

(A) Forest conservation (B) Wetlands

© S-oil conservation (D) All of these

THR AT Ter Rrad wraifa @ 7

(A) FTEET (BT g-vfy C) T@wEw (D) INHER
29.  Earthquake under the sea is called

(A) Tsunami

(B) Cyclone

(C) Landslide

(D) None of the above

T B IeqH WY F1 HESATT & ?

AT g (B) WTZFIA (C) & (D) FHAFETE

30. Ozone layer is damaged by . .

(A) PAN (B) CFC’s ©) Co, (D) Coal burning

3 T Y @ P T R 7

(A) PAN AR T

(C) TeA STEHTFAES (D) e &
31, Which of the following are not biotic components of an ecosystem ?

(A) Plants and bacteria (B) Algae
(C) Minerals and gases (D) All of the above

gqﬁﬂaﬁqﬁvmf&rﬁm-ﬁa%aﬁmmﬂﬁ%? |
A) qreq § ] (B) N E I \J@_Eﬁ?l@ﬁﬂ (D) I @

32 In which year was the Forest (Conservation) Act passed in India ?

24 (C) 1980 (D) 1986
~ A) 1927 (B) 1950
o (e e P TR a0

(AL 1927 () 1950 (C) 1980 (D) 1986

A-102
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33.  Ecosystem has two components
, (B) Weeds and trees
(A) Plants and animals N fthe above
ne e
(C) Biotic and abiotic factors (D) Noneo
R & Qe T8 i
. @Aan Td
(A) W g woft B) 3 T
. IqUFHH E
) _ S T e T ©)

34 In which of the following National parks *Lion’ is being conserved ? |

(A) Dudhwa () Corbett ((‘}‘ Kaziranga (D) Gir

ﬁqﬁﬁmuﬂqmﬁﬁzﬁmﬂ%mm% ?

(A) gua'[ (B) ﬂ;ﬁz (C) T YQ/L fm
35 Full form of *PAN’ in environmental reference is

(A) Para Acid Nitrate (B) Peracetonitrile

(C) Peroxyacetyl Nitrate (D) Permanent Account Number

qafaror % wef § PAN &1 314 #1811 R 7

A T fdre AT (B) THIZHTSZISS

(C) WATafTHteEe A5ee (B L THTIE T
36.  World AIDS Day is recalled on which day of the year ?

(A) 2™ October (B) 4" December (C) 1% December (D) 14™ January

Rrarga e s FRafAama g ?

(A) 2 (B)_ 4 femmn b@/lﬁaﬁr{ (D) 14 F=al
37 Which of the following is not a water-borne disease ?

(A) Malana (B) Polio (C) Cholera (D) Jaundice

=i & T T A A A TE R ?

(A) e (B) iferd NET_ & (D) ifera
38. ELISA test is used to diagnose which disease ?

(A) Malaria (B) Jaundice (C) Tuberculosis (D) AIDS

fora el g T & YATUA & I9aT 2 7

(A) & (B) diferan (C) et (aufew) ubn UZE
A-102 8
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55\; The Environmental (Protection) Act, Came
N (A) 19" Nov, 1986 ) Ak came mt?Bfom On Which date ?
(C) 25" May, 1982 oy 1% Jan, 1913
b () . - ?( ) None of the above
19 aw=R '
‘-‘(*2—‘)’1 ront 1;812986 (B) 11vwad, 1915
’ (D) ITOe A HE A
40. Whi i i .
ich c.:f the followmg National Park is situated in Assam 2
(A) Gir National Park :
CY i ) (B) Dudhwa National Park
(&) Jim Corbett National Park (D) Kazi National Park
ﬁ":{ﬂ _a Eﬁ'q T — ﬁ ﬁa% ) aziranga ational FPar
(A) Pradaw=m | (B) gua1 U¥H IOM
(€) Fom =ide mfg 3am '
Dy HrEem TEHE ITH
41.  Overgrazing, deforestation, avoidance of agriculture, etc. leads to situation known as
(A) Green belt formgtion (B) Afforestation
(C) Water conservation - (D) Desertification
Fferaon, safaT, F FET A i ot A 9 Rl 0= 8 2, 98 Feerd 2
(A) & &= fmin (B) s S (C) TATE D) TR
42.  What are the components of Biodiversity ?
(A) Ecosystem diversity (B) Species diversity
(C) Genetic diversity (D) All of the above
F-ffyarFaes FR-FHEE ?
(A) grftfeufaht fafaeumn (B) vty fafava
(C) FTgafi faferwan Dy I ot
43.  Which of the following measures are harmful for conservation of biodiversity ?
(A) Promotion of mining (B) Deforestation
(C) Promotion of burning (D) All of the above
Ao 1 3 1 A 398 Sa-fafawar % e & g afe @ 7
(A) EESEET (B). T (C) TEAWEE Bf It Wh
44.  Which of the following is cause of land degradation ?
(A) Deforestation (B) Excessive use of artificial fertilizers
(C) Industrial waste (D) All of the above
e i @ @y Al T FRO R 7
(A) T Fm C(B) O I N FAAH IH
() afeifir e NS R
A-102 °
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45.

46,

47.

48.

49.

A-102
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Water gets polluted due to entry of

(A) Domestic sewage (B) Agro-chemical waste

(C) Industrial waste (D) All of the above

T et e 9 YW & it B d

(A) W I T (B) HiN-w@rH rafire

(C) 3infies amafire P) Sww afi

Which of the following plants are used as source of medicine in India ?

(A) Eucalyptus (B) Neem (C) Tulsi (D) All of the above
WA H T AFR AN Ry wraad o

A) FHew () M © & () TR

What will happen if global warming is not checked in time ?
(A) Water level of sea will rise.
(B) Sea level will remain as such.

(C) Crop cycle and growth will be unbalanced.
(D) Both(A) and (C)

I sEeeta 39 ) g e Frafia 78 frar @ s e 2
(A) GHE T 98 FA |

(B) O e 3wwTfaa @ |

(C) o =% a 3oeh! gfg sragfera & ot |

kBT (A)F(C) T
‘EIA’ is abbreviated form of _
(A) Environmental Impact Assessment (B) Environmental Impact Automation
(C) Environmental Impact Association (D) Environmental Information Assessment
98 | ®19 EIA vatator # g @fm w18 7
(A) Environmental Impact Assessment (B) Environmental Impact Automation
(&Y Environmental Impact Association (D) Environmental Information Assessment

*Oil spill’ is a major problem of

(A) Marine ecosystem (B) Desert ecosystem

(C) Forest ecosystem (D) All of the above

e srfreea’ fore A @ frweh! YT FERIR 7 |
Loy wh iR - (B) weeyelly it -aa -
(C) g arfifeufoss-aa o (D) IR wft
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50. The \'f-a?‘n: material which is degraded by slow microbial action, are called
(z\;l :Tudg.'g[-adahlc pollutants (B)  Non-biodegradable pollutants
; ‘m‘:élli;;;]h‘t;;'““ ‘ (D) Anthropogenic pollutants
SR ~HR et et @ smafea 8 o €, seem §
W) - v B} -ty gy
(©)  STpfeeh wqwe (D) W Yeue
51.  TUCN is abbreviated name of
(A)  International United for Conservation of Natural Plants,
(B)  International Unijon for Conservation of Nature & Natural Resources.
(C)  Intermational Union for Conservation of Nuclear Warfare.
(D) None of the above
IUCN 1 qu aref s 2 7
(A) International United for Conservation of Natural Plants.
B Intemational Union for Conservation of Nature & Natural Resources.
(C) International Union for Conservation of Nuclear Warfare.
(D) IW 3 A=k 7
52.  National flower of India is
(A) Rose (B) Lily (C) Lotus (D) Chinarose
YRE &1 UFT 759 B
(A) T (B) foreht ULy F (D) TeEw
53.  Whale is which type of animal out of the following ?
(A) Fish http://www.mgsuonline.com (B) Mammal
(C) Amph:blan (D) None of the above
RA R A frg Sofi g @ 7
A) Toeh By @A () Iw=d (D) w8 @ =ig 7
54, For ‘Bhopal Gas Tragedy’ the chemical responsible was
(A) MIC (Methyl isocyanate) (B) DDT .
" (D) Carbon monoxide
(C) Peroxyacetyl nitrate
et g T & ford S e A R e 2
DT
AT MIC (B sreeaTEe) (B) I
e (D) A TS
(C) TradTeHiese
P.T.O.
11
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55.  Which of the following prevents soil pollution ?

(A) Industrial waste (B)y DDT

(C) Insecticides (D) Organic fertilizers
Wi } B 750 1 Tehert R 7

(A) 3irenfivs arafie (B) A

(C) him=H by e wr

56.  The organisms which can produce their own food are known as
(A) Heterotrophs
(B) Autotrophs
(C) Consumers
(D) Decomposers
T 1 T IR A 74T & R @
(A) faemadt (B (C)  JTUTTH] (D) ATEEF

57. Biodiversity refers to
(A) Diversity of soil
(B) Diversity of landscape
(C) Diversity of the species of hving orzanisms
(D) Socio-cultural & economic diversitics

Iafafaua wmifta R
(A) [ & fafauan (B) fgra £ fafavan
ey wEt Y wanfea i fafaum (D) wrIfores - arapsiaeh va iy fafaum
58.  Which of the following energy source is considered as eco-friendly ”
(A) Solar energy (B) Coal
(C) Atomic energy (D) Petroleum
P 3 @ R @1 FA G I HSA R 7
Ay @R (B) ®geN (C) TmmFAt (D) wRfem
59.  What is the unit for measuring noise pollution *
(A) dB (decibel) (B) PPM (Pars per Million)
(C) Micro gram (D) Roentgen
af yeuw B e B w7
LAY dB (3Rme) (B) urdw w fafer= (PPM)
(©) mﬁ‘gﬂ ' (D) oA
a2 12
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60.  Population explosion will cause
(A) Biodiversity loss (B) Stress on ecosystem
© . Food shortage (D) All of the above
FHEE fowne 1 R
(A) Safafqua i afy (B) witfeufes-d3 W aaa
(C) wram By I avft
61.  The flow of energy in an ecosystem is always
(A) Multidirectional (B) Cyclic
(C) Unidirectional (D) Systematic
RS- A Sl w R wRadmd:
(A) wgfet (B) whig ey wfem (D) wurrefa
62.  For controlling air pollution which equipment is used ?
(A) Cyclone collector (B) Electrostatic precipitator
(C) Bag filters (D) All of the above
AT TEHYT HI VA & ford w1 sum sm A e s @ 7
(A) UTEFAH FoATRT (B) Tmrefesw e
(C) & Reeed Py 390 avft
63.  Which of the following is not a natural cause of noise 7
(A) Thunder (B) Rail noise
(C) Volcanic eruption (D) Sound of ocean waves
i & & Y 71l F1 Wt B TE R 7
(A) TR By &
(C) sarerqEt faeme (D) vt 1 et
64. 5" June is observed as
(A) World Forest Day (B) World Population Day
(C) World Environment Day (D) World Ozone Day
5 S WA AT R
(A) fava 97 Rea (B) forva e fea@
S g vt e (D) fova i feam oo
A-102 L T
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65.  Chipko Movement was started to conserve

(A) Forests (B) Wildlife (C) Grasslands (D) Deserts
ot e s A & fress e & R semn ™ ?
AT & (B) It (€) =mnyH (D) TR
66.  Main objective of Family Welfare Program is
(A) Population control (B) Disease control
(C) Both(A) & (B) (D) None of these
T Heamn AT % qe ey @
A FFEE (B) T fazam
(C) @i (A)TE (B) (D) @+ T
67.  Plants are green because of the presence of the pigment :
(A) Chlorophyll (B) Glucose (C) Lecithin (D) Melanin
qTed! F1 & T HE A 9 H wiRfa F s e 2 2
(A) Ff®E By W (C) fafm (D) Wenfaa
68.  Which of the following 3R’s are regarded as environment friendly ?
(A) Reduce. Reuse & Recycle (B) Read. Register & Recall
(C) Random, Reduce & Recall (D) Reduce, Rebuilt & Restrict
fa 2 8 @13 A IR vaiww & e 7
AT Reduce, Reuse & Recycle »{B) Read, Register & Recall
(C)  Random. Reduce & Recall (D)) Reduce, Rebuilt & Restrict

69.  Pollution brings about

(A)  Climate change (B) Ecosystem degradation
(C) Dusease & Disorders (D) All of these

WEWI ZT Een 2

(A) Ferarg sftada (B) witfeufasht a3 #1 qam
(C) ™ w@ faan ~P7 I90w |t

70. [he harmiul ettects of UV radiations are

(A) Cataract (B) Damage to immune system
(C) Rise in skin cancer (D) All of the above
qua ferm & mfaers T #
(A) arfaarfag (B) WM gfruss 73 1 Twam
(C) fewa e 9ed DY 3T A

A-102 14
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The full form of MSW s

The ltai-1tar discase was caused due 1o -

(AY Zinc (B) Mercun (C)r Sihver (D)

21y~ 21y In " wTw R

(A) fow (By Wt oy fa=m . HN

Species facing threats that might Iead to 1ts extinction 1 5 <hort time i
(A) Rare species (B Faningt apeaies

{C)  Vulnerable species (DY Endangercd spedies

waTfA A @A 4 R U8 qxA %1 qua & faeqm 03 £ wrr

AT TEW yaTfa By famm wafa

(C) sfraazayia yafa

NS cch Eus

Expand WWF
(A) Warld Wildlife Fund {By  World Wide Forest
{C)y Both(A)& (B) (D) None of these
WWF & fam #

AT World Wildlife Fund (B) World Wide Forest
(C) 2 (A)TE(B) (D) ¥ A &8 T

Environmental protection is the responsibility of

(A) Govemment of India (B) NGOs
(C) Individual (D) All of the above
qatarror wvew faswer @
(A) WA SER 6 iB) @y ad g @
() wfR® DT T

15

http://www.mgsuonline.com

(A)  Municipal Sohd Wastc (B)  Municipal Suspended Waste
(C)  Municipal Surface Waste (D) None of these
MSW®Iquam b .

AT Municipal Solid Waste (B)  Municipal Suspended Waste
(CY  Municipal Surface Waste (D) 39 8 &1

Cadmium

Fzfagm

P.T.0.
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76.  The objectives of Wildlife Protection Act, 1972 is
(A) To preserve biodiversity. '
(B) To maintain essential ecological & life supporting system.
(C) Protection & conservation of wildlife.
(D) All of the above.
Fyafta weem afufam, 1972 5 Reg B

(A) Safafaua = axfira wn |
(B) aravas uitfeufeed) wa Sfiam wers yumeht =) w913 @ |
(C) w=rshia < gy wE wagm |

Py IRE ot

77.  Cow dung can be used

(A) As Manure (B) For production of Biogas

(C) Both(A) & (B) (D) None of these

e 3Tt 2

(A) EEFHFEIH (B) wmaNa @R & ford

ey 3 (A) T (B) (D) FHASE T

78. The adve'rse effect of modem agriculture 1s

(A) Water pollution (B) Soil pollution

(C) Water logging (D) All of these

ayfre HY & Rufa o @

(A) STeT Ao (B) W HTA (C) SEWTE ~4BY Irs @t
79.  Which part of plant contains Nitrogen fixing bacteria ?

(A) Roots (B) Stems (C) Leaves (D) Flowers

e F HH T § Aggra R St 9 @R ?

AT FIid (B) @A d (C) uferat (D) sat i

80.  The main pollutant from automobile exhaust is

(A) Soot (B) Carbon Monoxide

(C) Sulphur Dioxide (D) Carbon Dioxide

HiZTAETEE T 1 G& T8

@B (B) e TAETSS

@) T STRATHTES (D) HTEA TEATEERES
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81.  The plants growing in water are called

(A) Hydrophytes (B) Hygrophytes (C) Xerophytes (D) Mesophytes
S H I AT 91eY FHEA 3

LAY SRR (B) R ©) weehre (D) =R

82.  Food chains having interlocking pattern are known as
(A) Foodweb  (B) Energy cycle (C) Pyramid (D) Cone
T e S 6 3w 3 o gat & I g @ weemd 3
AT AR (B) A H C) @M (D) T%

83.

Ecological succession taking place in water is called
(A) Hydrosere  (B) -Lithosere (C) Xerosere (D) Halosere

T % IEL B e qTfRufhRT STeRne FEeral
(A SIeTshES (B) YU (C) HEHTH (D) TEUHES

84.

85.

Which of the following is not biodegradable ?

(A) Vegetables (B) Fruits (C) Earthworm (D) Aluminium foil
3 A o de-faueafia i g 7
(A) wfei AB) & © Fgan Dy yhHaE wEE

Man dies in the atmosphere of CO because it
(A) Dries up blood
(B) Reduces the organic matter of tissues

(C) Combines with oxygen present in the body
(D) Combines with haemoglobin of blood, thereby making the latter incapable of

absorbing oxygen )
el HTRTES T T 3 e g A A @ 7
(A) FTe THTETES T H gE &A1 8 |
(B) Fas o Hraraes gerd 1 FH |

Mﬁﬁwm%mwmﬁmﬁMﬁHaﬁﬁwm

86.

A-102

F1 8 |

icaster Management includes . | |
?Aiasr‘\:flitioatifn (B) Reconstruction (C) Rehabilitation (D) All of the above

(A) FAHT (B) R (C) FHatg wmm
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87.  Landslides occur because of
(A) Intensity of rainfal] (B) Steep slopes
(C)  Deforestation leading to soi] erosion (D) All of the above
g e 4 9 s #r BRI 7
(A) s =i (B) W 3eH
(C) freierTn @ g1 araeeA Py~ I wt
88.  Sustainable development refers to
(A) Fast development
(B) Industrial development
(C) Development with environment protection
(D) None of these
Haa fawm @ arfiom 2
(A) i@ fora (B) aieifirs e
Oy watato e % 91y e (D) ¥ & HId 7
89.  Important sources of land pollution are
(A) Industrial wastes (B) Agricultural wastes
(C) Both(A) and (B) (D) None of the above
wfr Jeww % gET w1 E 7
(A) 3Pt safire (B) ¥ amfre
_e) THi (A)TE (B) (D) IR ¥ J H¥E
90. Which of the following is a toxic metal ?
(A) Carbon (B) Cadmium (C) Magnesium (D) Sulphur
Py 1 @ = € T fawre v @ 7
(A) FTE __AB) Fefim (C) afifiry (D) T
91.  Who form the first trophic level in any ecosystem ?
(A) Herbivores  (B) Plants (C) Camivores (D) Omnivores
fry & @ arfrefe -7 % difbea T A wem o 2
(A) TR g T (C) W (D) weferd
18
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92.  Fluoride content in water is responsible for the diseage
(A) Amoebiasis (B) Typhoid
T H FIHNIES Y O HH A O FTHAF R 7

(A) afrEa (B) TITHIES ) wEid R (D) f

(€) Bone disorder (D) Cholera

93.  Wildlife Institute of India is located at

(A) Maharashtra (B) Dehradun (C) Kerala (D) Manipur
\AAY TETg (B) e ©) ¥ (D) =g
94.  Which is the Ecological Pyramid that always upright 7
(A) Pyramid of Energy (B) Pyramid of Biomass
(C) Pyramid of Number (D) None of these
= 3 & i a witRefeht frofie e B arrd -
AT ST @ frufyg (B) M & frifie
(C) 3= % frafirg (D) T A %E

O
b

Which of the following problems is not created by noise pollution ?
(A) Diarrhoea (B) Hypertension (C) Deafness (D) Irritation
f=1 0 8 = & s taf semr @ 7 At R 2

AT AfET (B) atferera (C) & (D) fusfagmm

96.  Which book has been published by International Union for Conservatiop of Nature &
Natural Resources (IUCN) concerning endangered species of plants and animals ?

(A) White Data Book (B) Red Data Book

(C) Blue Data Book (D) None of these .

$TCITE 4 R s 31 S U8 e a3 Rrgrsma wew @ 99 Senfieg g
Eﬁﬁﬁﬁqﬁﬁmﬁﬁ? _

(A) BT @y T Ea T (C) ®3RgH (D) FHIANETH

7. The information system used to identify the location of a point is

(A) Cis (B) GPS () Compass (D) Clinometer
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Important methods for propagating public awareness can be

(A) Lecture method (B) Demonstration method
(C) Training camps (D) Al of the above
Hﬁ?ﬁﬁﬁmm#mﬁmm@ﬁﬁ% ?

(A) =memfafa (B) weel fafy () R Rt (DY I

What are the objectives of Rainwater harvesting ?

(A) To reduce run-off loss (B) To reduce incidence of floods
(C) To reduce groundwater contamination (D) All of the above

I AA FEI F @ R 7

(A) aR 7+ 1 %17 | (B) T 3T &} g1l Y HH FT |

(©) VT g9 FHH FH | Dy I90w ot
Demography is the study of

(A) Animal Behaviour (B) Population Growth
(C) Animals (D) None of these
FAAEIHIg Hwa &

(A) U9 & SHAER By~ EE 3fg

(C) ugad (D) 3 A i T
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